
Fixing
UNIVER GROUPHZE

HZE_11

Regulator L-bracket

A B C D E Fsize

0

67 34,5 26 7 76
84 26 755 94

Part no.

HZE0Z310

HZE1Z310

HZE2Z310

1

2

16,5
16,5

G

18
18

H

45
45

ØI

40
47

68 44 24,5 6,5 5910 16 40 26,5

C- bracket

Assembly kit

A B C D E Fsize

0

22 7 125 10 7
22,5 125 107 7

Part no.

HZE0Z210

HZE1Z210

HZE2Z210

1

2

45
45

G

7
7

H

27
37

ØI

25,7

J

M5x45
M5x45

16 7 105 10 5,535,5 4 25 18 M3x37
K

32
32

26

25,7

Assembly kit T-bracket

A B C D E Fsize

0

67 34,5 76 7 69
84 93,5 955 102

Part no.

HZE0Z300

HZE1Z300

HZE2Z300

1

2

14
14

G

45
50

H

9
11

I

45
65

J

2,3
2,3

68 44 61,5 6,5 6010 35 8,5 40 2
K ØL

63 25
80 25

40 14

A B C ØI J Ksize

0

15 44 M5x457 32

Part no.

HZE0Z200

HZE1Z200
1

2

9,5 5,5 36 M3x37 2618

25,7

https://rodavigo.net/es/c/neumatica/accesorios/elementos-para-neumatica/f/univer

Polígono Industrial O Rebullón s/n. 36416 - Mos - España - rodavigo@rodavigo.com

Servicio de Att. al Cliente
+34 986 288118




